Lesson 2-2B and 2-3 December 18, 2012

Warm Up:
Solve the following:
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Because percents can be expressed as
ratios, you can use the proportion
peTCent _ part \to solve percent problems.

|\;100 ~whole

Just use the above formula for solving word
problems. The percent stays a whole
number and think what is the whole group
and what is the percentage group?
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A poll taken one day before an election
showed that 22.5% of voters planned to vote
for a certain candidate. If 1800 voters
participated in the poll, how many indicated
that they planned to vote for that candidate?
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At Clay High School, 434 students, or 35% of
the students, play a sport. How many students
does Clay High School have?
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A rate is a ratio that involves two different
units. You are familiar with many rates,
such as miles per hour (mi/h), words per
minute (wpm), or dollars per gallon of
gasoline. Rates can be helpful in solving
many problems.

Ryan ran 600 meters and counted 482
strides. How long is Ryan’s stride in inches?
(Hint: 1 m = 39.37 in.)
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Luis ran 400 meters in 297 strides. Find his
stride length in inches.

lm= 39.375A
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| need a volunteer. This room is 9 meters
long. -
E I

Volunteer walk from back white board to
front. How many strides?

2.5

What is their stride length in inches?
1m=39.37in
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Similar figures have the same shape but not
necessarily the same size. Two figures are similar
if their corresponding angles are congruent and
corresponding sides are proportional.

You can use knowledge from

Geometry to find similar figure

lengths. To solve these

problems: Al o)
1) Graph what you are given A2 a2
2) Set up a proportion to find

missing side lengths.

AXYZ has vertices X(0, 0), Y(-6, 9) and Z(0, 9).

AXAB is similar to AXYZ with a vertex at B(0, 3).
Graph AXYZ and AXAB on the same grid.
A\
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ADEF has vertices D(0, 0), E(-6, 0) and F(O, -4).

ADGH is similar to ADEF with a vertex at G(-3, 0).

Graph ADEF, and ADGH on the same grid.
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You can also estimate heights and
lengths using similar triangles. To
solve these problems:

1) Draw a picture (it helps to see)
2) Set up a proportion using similar
sides and solve.
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The tree in front of Luka’s house casts a 6-foot
shadow at the same time as the house casts a

22-fot shadow. If the tree is 9 feet tall, how tall
is the house?
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A 6-foot-tall climber casts a 20-foot long
shadow at the same time that a tree casts a
90-foot long shadow. How tall is the tree?
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@ Graphing Linear Functions

Objectives
Determine whether a function is linear.
Graph a linear function given two

points, a table, an equation, or a point
and a slope.

Copyright © by Holt, Rinehart and Winston. All Rights Reserved:

Vocabulary
linear function
slope
y-intercept
X-intercept

slope-intercept form

Kelt Algebra 2 Copyright © by Holt, Rinehart and Winston. All Rights Reserved.
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Functions that are linear have a constant
change, also known as a constant slope.
To find if a table is linear:

1) Find the differences between
consecutive x and y values.

2) Is the difference of y divided by the
difference of x the same for all?

Determine whether the data set could
represent a linear function.

42 A2 &
x | -2 0 | 2 | 4

fx)| 2 | 1 | o |-1
-~ -1 =)

Cinea,
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Determine whether the data set could
represent a linear function.

A =\ +\
X 3 4 5
f(x) 8 |16
+2 tY 1Y
Not
C "Ngg s

Determine whether the data set could
represent a linear function.

471 477 A7)
x | 4 |11] 18 | 25
f(x) | -6 |-15| -24 | -33

-1 -1 719

10
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Determine whether the data set could
represent a linear function.

x |10/ 8| 6 | 4
foo|l 7| 5| 1 | -7

The slope of a linear function is the constant
ratio of y divided by x, also known as...

(Cise {L\

\

To graph with a point and slope:
1) Plot point.

2) Use slope to plot more points and
connect. The top number is your rise
(up/down), the bottom number is run
(left/right)

December 18, 2012
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Graph the line with slope 5 that passes
through (-1, -3). —s —2

/

Graph the line with slope —% that passes

through (0, 2).
-2 - \\'3

"~ 1=~y
i

12
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Graph the line with slope gthat passes
through (3, 1).

Choose a point. Choose
a slope. Now graph it.

13
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The y-intercept is the
y-coordinate of a point
where the line crosses the

Ly

1/

y-intercept

X-intercept

>
-

The x=-intercept is the
x-coordinate of a point where
the line crosses the y-axis.

X-axis. =3 |

To find the intercepts:

1) To find x-intercept: Plug in O
for y, and solve for x

2) To find y-intercept: Plug in 0
for x, and solve fory.

14
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the line.

Find the intercepts of 4x - 2y = 16, and graph

Y-ind: X-rat:
L)-0- 2y:lb Yy 2:0=p

- 7.)': [0 "()‘:Ib
y=-3 %Y
(oD (4

Find the intercepts of 6x - 2y = -24, and
graph the line.

)(- it )’- k"
by-2  ~2y=24
X F"

15
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Write your own equation.
Find the intercepts.

Linear functions can also be expressed as linear
equations of the form y = mx + b. When a linear
function is written in the form y = mx + b, the
function is said to be in slope-intercept form
because m is the slope of the graph and b is the
y-intercept. Notice that slope-intercept form is the
equation solved for y.

b“\‘y ;I\'k/c.{ﬂ-

16
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To write in slope-intercept form:

1) Solve forytogety=_x +

Write the function -4x + y = -1 in slope-intercept
form. Then graph the function.

"1){*7:-1
My My

Y4 |

17
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3
Write the function X+Zy =6 in slope-intercept
form. Then graph the function.

Write the function 5x = 15y + 30 in slope-
intercept form. Then graph the function.

V= '—‘;X -2

18
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Vertical and Horizontal Lines

Vertical Lines Horizontal Lines

The line x = g is a vertical | The line y = b is a vertical

line at a. X=# line at b. :_:H:
AV A

v Capture to new page

Ecl: Algebra 2 Copyright © by Holt, Rinehart and Winston. All Rights Reserved.

Example 5: Graphing Vertical and Horizontal Lines

Determine if each line is vertical or horizontal.

A.x =2

B " y - = 4
/ Z v Capture to new page

Kelt Algebra 2 Copyright © by Holt, Rinehart and Winston. All Rights Reserved:
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@ Graphing Linear Functions

Check It Out! Example 5

Determine if each line is vertical or horizontal.

A.y =-5

B. x =0.5

Copyright © by Holt, Rinehart and Winston. All Rights Re:ervéd.q

Homework:

p. 101 #18-21, 30, 33
p. 110 # 22-38 (evens), 50, 52

Present: p.101 #33
p.110 #50
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